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	Source paper
	Question number
	New spec references
	Question description
	New AOs

	1
	M2 2015
	5
	 2.1
	Work and energy
	1.1b, 3.1b, 3.4

	2
	M2 2014R
	5
	2.1
	Work and energy
	1.1b, 2.1, 2.2a, 3.1b, 3.4

	3
	M2 2011
	5
	2.1
	Work and energy
	1.1b, 3,1b, 3.4

	4
	M2 Jan 2013
	5
	2.1
	Work and energy
	1.1b, 2.2a, 3.1b, 3.4

	5
	M2 2012
	6
	2.1
	Work and energy, Power
	1.1b, 2.1, 2.2a, 3.1b, 3.4

	6
	M2 2017
	7
	2.1
	Successive impacts and kinetic energy
	1.1b, 2.1, 3.1b, 3.2a, 3.4

	7
	M2 2014
	8
	2.1
	Kinematics of a particle moving in a straight line or plane, 
[bookmark: _GoBack]Work and energy
	1.1b, 2.1, 2.2a, 3.1b
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